S %}’\Q’AO/?’C T}b 66,,,.

Leastn, \Wd Fun....

l..

Scanned by CamScanner



u&)e:f%n’tfbwn
=
&Qﬁv an'tmb tsiee ( olso Tnewn os abststact syftox tyee) Ts o condense

fowm Of onse Estee.

Eacoomvple: |
ol .
/E + T\ ) / \q
1 N
| 5
'T/E:\d?ﬁ\b 4 d
/ |
dfglb 5
; Panse Taee S%W"I?ODO Tstee

Scanned by CamScanner



Passe Tscee Vs S\én?f/w)c f%e@p

Pasese Vsl S%W‘ta,% To1el

A gﬂn'ho-x, 1yee To Ou cendensed

S i

A poyse tyee Ts O quaphicel

Taee.
mﬁﬂesen'ho'ﬂerl of the ‘}uﬁummen—b fosim of ponse

o
Jyocese 0 O deviation.

————

Toees,
Tn pomse 1yees, Tn syrtax

—> pach Jritesfion node stepesents
- each fatestiost node

n ope¥aton
ﬂe}mesen'hs o gmmmmt Hule an Ofe -
e —> each leaf node Hefmesen
ode iefsiesen
— eoth feaf n oﬁe”un&
o ‘tenminakb
f_

Scanned by CamScanner



Rnse tsees wgﬁmesen'b eveny Sgn'bcm tsees does not %ejmeserﬁ»

evesy detoit fvom the seal

detat fwom the steal syAtowr
ow ( thats why they o%e catted

synt
abststact) - Fost example-

nodes, NnoO panentheses ete.

—— /

no siule

19iees QXe mote dense

Sgr?tﬂ‘&
o baees for the

c::mﬁu‘}ie& to pod

Same fonﬂuage consSEHUCH -

Favice Trees ove feces dense
Comﬁnxect to syrtox taees fon

the some [nnguuge constauct

/

S —

— A KLARARTER =

Scanned by CamScanner



Pooblem 0L+

Constdext the fobtowing gtammast -

E—E+T/T

T _._-)T*FIF
F — )/ &

Fow the stsiing,
W = ?&."" T& >* ‘t&

Cenevidte- ty fowge toed

Scanned by CamScanner



SoBmOc,Lg_yL:— fhe gjiven gslomma is-

E—>E+T/T
T -—-'r'r-x-T-IF
e — (/L

sgw’bom "b&"ﬂ?{’

LPostse tee ’

?&/Jr\*
Jyatay

& 1&

ARKARELAKRKK

Scanned by CamScanner



P‘%OE{’EJ‘T{\" 02/ < Consbwuct the sHﬁton Lstee fox the {ot[ow?ng expyession -
(a+8) = (c-d)+ (Cet) % (0+B)

Solution - |
en expxieseion 1ito OM

SbeE-l'-' Conuesit the diu

e;«ﬁmesenel‘;-
= (a+8) * (c-&L) + (celf) * (0+B))
o ¢ LERE) Y (c-£) + (CGI-D*(D-*B))
-y o4V E cd- + ((el-p*(ms))
wdytiad od- + (efl * ab+)
o ob+ * cd- F ef/ ab+ %
- ab+od-% ef[ab+ %

- ob+cd-xef/ob+ %+

Scanned by CamScanner




538?3'33' Osow syrbaw Evee - (ag+cd-x ef/ab+ %+)

2|4

el

(ot b) %
cc-d)

~

(a+B) ¥

Ccd)

7] > — -
c [ cd
0tb r 0t+b
* +
- a+b -» (a;b)
el Celf)
(0+B) # (a+B) %
cc-d) Ce-d)

(atb) *
(c- 4)

+
((elf) *

(a+8))

Scanned by CamScanner




K RKELKRRA

Scanned by CamScanner



